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Q1: The base of the solid is the rewy y=Inx ,x=1and y=1.

Cross — sections perpendicular to the y-axis are semicircles with diameter is on the
base . Find the volume of this solid

Q2 : Use the shell method to find the volume of the solid generated by rotating the
region bounded by y=5-x* and y = 1 about the line x = 3
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Q3: Find the len:

gthof'the curve y= 2In(sm x) ; SRgdl
g S¥S

J(/{

: ;
[\/I*\ )I'_-z\.\]s.-;g)‘

l

u) 2 COSC’/AI

Q4: Find the limit of the sequence (Zn.+ 4} ..
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QS5: Find the sum 2(3" 47" + L J
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Q5: Test for convergence:
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